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2N WEANSI
M s 2435
ool MBS S4 (&f
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
02 QI AAIE E X 6,600 6,600 0
OStHEZ2 e A ME2E 29 6,600
APNE= 700,000 22 x4 & 5,600
HI 42| 1,000
MEYEDAY 2H(EX) 63,670 60,330 3,340
& 8,085
Al 55,585
307 giztol A 60,550 55,650 4,900
& 8,085
Al 52,465
02 QIZ2IA AAIE E X 60,550 55,650 4,900
OMEMZ2E2IAMT 60,550
A=Y 58,800
& 7,560
Al 51,240
3| 1,400
& 420
Al 980
E2H| 350
& 105
Al 245
402 IV X201 & 3,120 4,680 A 1,560
01 BIZtXIEAYE X (KM TH ) 3,120 4,680 A 1,560
o2& S&r&Ed 2 1,560,000 22 & 3,120
SAE =EPA 2 (BX) 10,140 10, 140 0
& 3,020
Al 7,120
307 QI2t0| ™ 10, 140 10, 140 0
= 3,020
Al 7,120
02 QI2tAAMAIE E =X 10,140 10, 140 0
ORad s=3204a 29 10,140
& 3,020
Al 7,120
MEHE =50 21O(8BX) 46,170 46,170
== 13,851
Al 32,319
307 2Iz2t0| & 46,170 46,170
o=t 13,851
Al 32,319
02 QIZHEAAIRE E X 46,170 46,170
OMEISE S3olea(8x) 46,170
= 13,851
Al 32,319
AZX2AX0EH KNI (EX) 220,160 183,680 36,480
_ 13 _




- _ _ RE]
M- B (B H) - NSAY - B Ol &F o4 %@i 2t
Pl 154,112
& 33,024
Al 33,024
QutE N = 220,160 183,680 36,480
J| 154,112
& 33,024
Al 33,024
01 Al E & A 46 2 220,160 183,680 36,480
OAZ=2E 0|23 AFY 220,160
J| 154,112
= 33,024
Al 33,024
QIAZTX2AIOIEHKHA 3,200 0 3,200
J| 2,240
=} 480
Al 480
QlEtE XN =2 3,200 0 3,200
J| 2,240
= 480
Al 480
01 M EXEE 4562 3,200 0 3,200
OZfel AZTX2AH 0|2 3,200
J| 2,240
& 480
Al 480
HEHAF HE & K& 2,258,619 3,388,348 N1,129,729
J| 29,232
= 75,000
Al 2,154,387
HAL 29 K& 278,200 278,200 0
et AH| 7,500 7,500 0
A2 22| Hl 7,500 7,500 0
ONSHAINE 22 2 EH| 3,000
OM=EUz 222 H&E S 4,500
o4 gl 5,100 5,100 0
=L O 4 5,100 5,100 0
OMESEAI XA 5,100
QutE N = 1,600 1,600 0
SHAIAIH| X & 2 1,600 1,600 0
OMSEA XIS ALAF S AH|
8,000& x50H *4 3| 1,600
oIz2tol ™ 264,000 264,000 0
DI2ZFAMAIE E X 264,000 264,000 0
OF=dd0ictEUs & 7,000




2N nEMs
3 s 243

Sl MSHA HE L X (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

ONs Ed MEsUs 28 X 6,000
O&= %L T2 M=U3 X3 15,000
O MU K& 4,000
O&d=04d Madsls &M 12,000
OdetECodEls A 200,000
ONct=Z&MAM=EUZ X 20,000

MSaA &I} 15,000 20,000 A5,000

301 dEtE X = 15,000 20,000 A5,000

09 #HAIAHI XIS 2 15,000 20,000 A5,000
O&=2 & o4 MEUa &INH 15,000

M= X3 443,869 318,300 125,569
Dl 29,232
Al 414,637

307 QI2t0| ™ 433,869 308, 300 125,569
J| 29,232
Al 404,637

02 2B AMAIEE X 10,000 15,000 A5,000
OXe MEXN=E S5E WAAY 6,000
ONMER3A Al 2 U3 4,000

03 AAHNEES2IHIEX 423,869 293,300 130,569
OYdA HEs3 X 295,905
O&oel M=ssl 2HXEH 61,500
O ZoHel M=K Xt B X 66,464
Jl 29,232
Al 37,232

402 QI2F X2 0| & 10,000 10,000 0

01 BIZtXIE A E X (KM TH ) 10,000 10,000 0
O&Oe M=EH XSAH 10,000

HSA XI& 20,550 21,048 N 498

101 @121l 8,550 8,048 502

04 JI2ZtH 22 XNEE S 8,550 8,048 502
OFXEH & HMEela s X o 8,550

201 Lt 2| 12,000 13,000 A 1,000

01 At 22l ] 3,000 3,000 0
O&= L MEXNsUHE =22 3,000

03 S AIS H I 9,000 10,000 A 1,000
OMESEHAIX & 9,000

IS SN L #HALY 154,000 153,000 1,000

202 04| 4,000 3,000 1,000

01 2LHOHI 4,000 3,000 1,000




2N

g s 243
el MM OHE ¥ XS (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
O&Xed KX 4,000
307 glztol & 150,000 150,000 0
02 2t HAMAEE 150,000 150,000 0
O&XEd R R A BN 150,000
ZeotE =H EEIIUE 270,000 270,000 0
307 21201 A 270,000 270,000 0
02 (I HAMAEE 270,000 270,000 0
OZelotLE =M 2d Izl 270,000
=M Ht= 2l 20,000 20,000 0
307 g2+l & 20,000 20,000 0
02 HAHFHYANEEX 20,000 20,000 0
O=H H= sSdLU 3 20,000
=X 23 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
02 It HAHEE 40,000 40,000 0
Odd 2el0tE M d=U3 40,000
=M SaUz 20,000 0 20,000
307 glztol & 20,000 0 20,000
02 It HAMAEE 20,000 0 20,000
Od= S¢d Uz &€ =H WEd 20,000
d= 3¢ HUA e 15,000 15,000 0
307 21201 A 15,000 15,000 0
02 AHFHAEEE 15,000 15,000 0
OFetl 8= sseHUA 3l 15,000
8= =03 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
02 HAHFHANEEE 40,000 40,000 0
OFEH 218 &2 &3 40,000
d= 254 ia 10,000 10,000 0
307 glztol & 10,000 10,000 0
02 QIZtE A AHEE 10,000 10,000 0
O3 AEI DeletHlAE 25403 10,000
d= A3 230,000 230,000 0
< 50,000
Al 180,000
307 glztol & 230,000 230,000 0
= 50,000
Al 180,000




2N nEMs
3 s 243

el MM OHE ¥ XS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

02 It M AHE L 230,000 230,000 0
Od= &Y HHa: d=AUs 230,000
= 50,000
Al 180,000

= B os 30,000 30,000 0

307 glz2+ol & 30,000 30,000 0

02 HAHFHAANGFEX 30,000 30,000 0
OHJ3EEH d=2EU sl 30,000

&= oFR0s 7,000 14,000 A7,000

307 21201 A 7,000 14,000 A7,000

02 IS AMHEL 7,000 14,000 A7,000
OL3AEI H2Aslel k203 7,000

A= AdHO2U 3 7,000 0 7,000

307 gl2tol & 7,000 0 7,000

02 IZHE M AHE L 7,000 0 7,000
OE&AEI &= AH kU2l 7,000

A= HHECQIE 3l 20,000 20,000 0

307 glz2+ol & 20,000 20,000 0

02 IZtE M AMHEE 20,000 20,000 0
OFetl d=3 HHEeEsl 20,000

= NAEA el 7,000 7,000 0

307 21201 A 7,000 7,000 0

02 YAFAAFEE 7,000 7,000 0
OXlelst HEA el 7,000

d= |Fad =303 60,000 60,000 0

307 21201 A 60,000 60,000 0

02 IS AHE LS 60,000 60,000 0
OFe €& d=2 |44 =303 60,000

&= SctolY 3l 20,000 20,000 0

307 glz2tol & 20,000 20,000 0

02 IZtE M AHE X 20,000 20,000 0
OLHANEH =2 S5 AX=xZ201Y W3 20,000

d= S49 203 35,000 35,000 0

307 glz2+ol & 35,000 35,000 0

02 IZtE A AMHEE 35,000 35,000 0
Ot &= |44 203 35,000

A= OtetEWUS 30,000 30,000 0

307 21201 A 30,000 30,000 0
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2N

g s 243
el MM OHE ¥ XS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAZI HIEAHHFHSE 6,000
g3A HOHS M2 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
02 QIZtE M AHE X 6,000 6,000 0
Og3AZM M=U3 6,000
HEAZ=ZSY 29X 225,000 200,000 25,000
< 25,000
Al 200,000
307 21201 A 225,000 200,000 25,000
< 25,000
Al 200,000
02 B AAFER 225,000 200,000 25,000
ONHEAZ=Z2YH 29Y 225,000
= 25,000
Al 200,000
AEFIE 23 473,330 456,758 16,572
< 31,000
Al 442,330
AFHIR(=Y) 2 NA(BX 473,330 456,758 16,572
< 31,000
Al 442,330
201 £B-2dH| 18,000 18,000 0
01 At 22l 8,400 8,400 0
Og=4a 29 det=ZH| 700,000& x12& 8,400
02 2324l 9,600 9,600 0
Og=4 23 243 MM &€ 32 S 9,600
&IOR3 350,000& »12& 4,200
NHARS 350,000& 122 4,200
AIHU RS 50,000& 123 600
dot+=ER23 50,000& 1201 & 600
301 LA F 455,330 438,758 16,572
< 31,000
Al 424,330
o=t - 2SES243 455,330 438,758 16,572
OHE2SZIIR eyl 348,257
=2 255,402
-d=s 1, 86 3,040,500 x7H x12& 255,402
E2=g 8,514
-&d= 1, 86
3,040,500 »7H *x20%*23] 8,514
29 a3 720
- 10&8~144 60,000 x1H 128 720
ERr=Ea] 130,000& 7H 128 10,920
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SN DEHSD
g s 243
ool IR 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=] 13,080
-&= 250,000& x 18 «12& 3,000
- d= 140,000& 6% «12& 10,080
=E-ESIL] 25,541
US4, H44 6
3,040,500& #60%*7H »23| 25,541
s 350,000 x7H «x12& 29,400
NEX=E 150,000& 1H 122 1,800
IHEH 2,880
- B X 40,0003 x2H 128 960
- AWM 20,0003 x2H 128 480
- =MXH 60,000 x1H » 128 720
- BI=E 20,0003 x3H 128 720
OXNF2SIINT 29| 107,073
0= 5,000, 000& «*5J4 CH 2l 25,000
< 25,000
thal= &bl 4,000,000 =54 CH 2 20,000
= 6,000
Al 14,000
H=S=Hl 50,0003 x6H 300
=Rl 2,000,000& x13] 2,000
&dXZ&dl 90,0003 +7H 20 23| 25,200
Il =l 700,000& »7H 23| 9,800
g4 ZANE
8,000 x2Al x7H + 18U« 1204 & 24,192
AT XOFM DAY 83,0003 »7H 581
=0MEINZ2 A 215,050 41,000 174,050
J| 165,000
Al 50,050
UM EHH 29 & IFQHAASI|E F=(2 215,050 41,000 174,050
%)
J| 165,000
Al 50,050
307 gl2tol & 215,050 41,000 174,050
J| 165,000
Al 50,050
02 PIZHEHAHE L 215,050 41,000 174,050
O20IR100 HAMBASHE 2 215,050
J| 165,000
Al 50,050
HM=EIIEtAE &= 10,880,800 13,530, 123 A 2,649,323
as 1,500,000
J| 1,500,000
< 15,000
Al 7,865,800




HmES S
CHE gda
CHSOIEAE

o

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=3 =33 23X 4H 1,050,800 0 1,050,800
401 AlEHIZL 201 Y| 1,050,800 0 1,050,800
01 A& H| 1,050,800 0 1,050,800
OFEZ2 HsSsd S&HXTH X0 1,050,800
=SS HSE2E FUHAE =4 1,000,000 0 1,000,000
Fag 300,000
Al 700,000
401 AlEHIZL 2 0HY| 1,000,000 0 1,000,000
Fag 300,000
Al 700,000
01 Al&H| 993,700 0 993,700
OFEIM=R2 BUHAE =4
1,000,000, 000 *99.37% 993,700
g 300,000
Al 693,700
03 AlE 21| 6,300 0 6,300
O=sZ2M=s2d 2UHAE =4
1,000,000, 000 *0.63% 6,300
=S AUWSIEE MF 2,000,000 1,200,000 800,000
401 AlEHIZL 2 0HY| 2,000,000 1,200,000 800,000
01 Al&H| 1,992,800 1,200,000 792,800
OMU+E AYANY
2,000,000,000& x99 .64% 1,992,800
03 AlE 201 7,200 0 7,200
OAU+IE HEAY 7,200
HHECQIE A MZAIY 3,298,000 1,398,000 1,900,000
= 900,000
Al 2,398,000
401 Al HI L £ 0HHI 3,298,000 1,398,000 1,900,000
g 900,000
Al 2,398,000
01 Al& H| 3,286,128 1,398,000 1,888,128
OHIEQEHHE AFAY
3,298,000, 000 *99.64% 3,286,128
Fag 900,000
Al 2,386,128
03 A& E2HH]| 11,872 0 11,872
OHIEQEHHE AIFAY 11,872
=82 EH EHIEIE NEx At 150,000 1,100,000 A 950,000
401 A& HI L 2 04| 150,000 1,100,000 A 950,000
01 Al&H| 148,920 1,100,000 A 951,080
OF82 EHEHHIY MES=AMY
150,000,000 *99.28% 148,920
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2N nEMs
3 s 243

S MFIALE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 1,080 0 1,080
OFe= SHEHAINE HE=AY
150,000, 000& *0.72% 1,080
Nelatd 2500 setat s4xd 2,100,000 1,600,000 500,000
s 300,000
J| 1,500,000
Al 300,000
401 Al HI K 201 I 2,100,000 1,600,000 500,000
s 300,000
J| 1,500,000
Al 300,000
01 A& HI 2,092,440 1,600,000 492,440
OXleldtd Me SoC sgs 32424
2,100,000,000& *99.64% 2,092,440
s 300,000
J| 1,500,000
Al 292,440
03 Al R THHI 7,560 0 7,560
OXleldrd Mg S0C s&st x4l
2,100,000,000& *0.36% 7,560
MEAE =4 L FHH| 732,000 1,111,000 A 379,000
< 15,000
Al 717,000
401 Al HI K 201 I 732,000 1,111,000 A 379,000
= 15,000
Al 717,000
01 A& HI 729,189 1,109,758 A 380,569
Obtsttel M7 &X
10,000,000 *38H £~ 380,000
O0r==e M2 HIJIEAIE &3
10,000, 0003 %2301 2 x99. 28% 228,344
OZS3HSAE FHl 35,000,000& *98.92% 34,622
Ont=et?l MSAE Ftl
20,000,000& *98.92% 19,784
028 28 MEIF & HINHHAE Ex(=2
E 00l &) 19,784
Ogw 38 M&EJI 7 & HIotE AlE
20,000,000& *98.92% 19,784
O&E 148 MEII7 A&
12,000,000& *98.92% 11,871
O=S3BS MEAME ZLAL (S =AML
) 15,000, 000& * 14! 15,000
< 15,000
03 A& S THHI 2,811 1,242 1,569
OOtS&el MEII= HIIHEAIE £X
10,000,000 2304 A %0.72% 1,656
OZ232MSsAE EHl 35,000,000& *1.08% 378
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M DEHSH
3 s 243
Sl MIINEAIE =E

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
Og=ds2 iy 2,500
OMSAEE Al Hl & Xl bl 35,000
OzgEASIA #IlLH ZUAHEY
3,000,000& x13] 3,000
OXNEAAE Ewa 2 2,000,000 +13 2,000
OzFg=rsa 2 2,000,000& %23 4,000
Ozg=dsa 2 Me=X Ea
1,500, 000& * 13| 1,500
OEXE B2 750
ozzxg *FU 3,000
OExg R 1,000
Ozg=rs2 29d|
3,000,000& =23l 6,000
OFs=HSE LSAE HHEEA
180,000& 1201 & 2,160
OS3HSEAE g8 849 9,000
OHMBBAIEE AHZA EH &9 7,100
202 oddl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
OMSAE & & 7,000
206 M= Hl 16,790 17,390 A 600
01 =8l 16,790 17,390 A 600
OEE=Hs3E S3HMSAE M= Y| 16,790
HEZ 1000 100,000& =154 1,500
HEHZ 2500 30,000& 504 1,500
HE#Z 4008 50,000& %304 1,500
HEeHEIl 2500 & 30,000& 30K 900
HEeHE Il 4000 - & 50,000& 204 1,000
HEe+EIl 1000W < 100,000& * 104 1,000
THEX 2000 +& 60,000& 704 4,200
THEX RLHEZ 2 700,000& *2H 1,400
JIEF MO 2 1,000
sgtlzg ¢ 15,000& 30 x33| 1,350
AF, AZ2H 2L 12,0002 x2F *15H x43| 1,440
401 Al HIZ 2018 120,000 110,000 10,000
01 A& HI 118,884 108,812 10,072
O3 ZsH=dE HEAIE WHA
20,000,000& *98.92% 19,784
Oze=N=34 28 g SESA
100,000, 000& *99. 1% 99,100
03 Al S THHI 1,116 1,188 AT2
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A DAY
Hu: @A RY
erel: Jl= 2| (29 a8)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
OZ 2| 3,600
OUEM stX2UHE OINXAIE Alog FA
=g 70,000& x5 x 13| 350
OnsLddAAG &Y 70,0008 *x12H x13] 840
202 O B 16,700 20,000 A 3,300
01 2L Y| 16,700 20,000 A 3,300
OnNEMI R=X04H| 16,700
203 PR =&Y| 4,920 4,920 0
04 B2 AALEAY| 4,920 4,920 0
ORN2HLLETY| 4,920
ol 2 AY| 53,102 51,981 1,121
olE 2 (M) 53,102 51,981 1,121
101 2124 4| 53,102 51,981 1,121
03 I HLsZ22 N 53,102 51,981 1,121
OstZ e a(1¥,164 0/8H) 53,102
=3 2,228,900 x 1 x12& 26,747
a4 2,228,900& 14 x50%*23] 2,229
AN 125,000 x1H x12& 1,500
Pl MG 100,000& x1H ~12& 1,200
Hd2g I3 80,000& x1H x12& 960
NE=L (R 40,000& 1 x 128 480
oMz AH| 160,000& x 1H x12& 1,920
HEANHZ 2,228,900 1 x60%*23] 2,675
Al 2+ =& 20,6673 *13AI 2t x1H x12& 3,225
sodxd 165,336& x5 . 5L x1H «12& 10,913
A OIS AbH| 110,2243 x1H « 10 1,103
I =4l 150,000& x1H 150
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